BT FSAM A R201345F 5

201319 &
B AEBERE] I A X =S EIETS T =
— B —REEt 1,465,307 3,050,510 1,370,936 3,144,881
E % 9,323,619 1,659 0 9,325,278 | EHATEL FII &
& EF @ 10788926 3,052,169 1,370,936 12,470,159
SRR | BRI 4,547,931 0 12,000 4,535,931 | BILfEtt o i-F R B
E % 9,206,027 1,836 0 9,207,863 | EHATEE FII &
& E®@| 13753958 1,836 12,000 13,743,794
RRaet =N Ea%] 2368846 0 0 2,368,846
& T Q) 2368846 0 0 2.368.846
BEH | O+O+Q 26,911,730 3,054,005| 1,382,936 28,582,799
B E# B &

— i & & 201349 A30H
# B ] 1T % AOFEES o 25 & &
CHES 79,373
TRES |SHERBITEEIRETRE  [3406748 3,049,508
Rile [FSUHL—L 144,000
EX$ A 144,000
TEE 16,000| A HEEE X EFH28 5
RINE 0
xihE 0 _

N E a 3,144,881 & R &)

(F& 31 £)

EHTEE |=HERBITERRAIRE 536486830 5,002,001
EHTEE |=HERBITERRAIRIE 536486832 3,323,177
EHEE [=HERBITERRAIRIE 536486833 1,000,100
N b 9,325,278 (8 I %)
& 5@ (a+b) 12,470,159
ELERSE
# B ] 1T % AOEES & 2 & &
b 15,727
TEEE |=SHERBITSERAIXE 3406730 4520,204
N Eta 4,535,931 (B R &)
i)
EHES [=EHERBOEERAIRE (539008120 5,002,001
EHTEE |=HERBITERRAIXE 539008122 4,205,862
N EF b 9,207,863
& @ (a+b) 13,743,794
Al B Et
# B ] 1T % AOEES & &
EREEES 2,368,846
LEEE |ZERFRURRITEEXE 3707276 368,846
EHEE |=ERRUFMRITEEXIS 3707276-026 2,000,000
& & 3 2,368,846




2013598 —REHIFZHEE

IR A @ #
15 = BEFHLE BB ES = HURA LAES i 2

2 E A [ 7,300,000 ][ 0] 3,000,000 ] 3,000,000 ]

SEELE 6,450,000 0 3,000,000 3,000,000 |75.000x414 ({H 28 —1/2)

MASEFERE 450,000 0 0 0

HASBASS 280,000 0 0 0

i B = & 0 0 0

HAZBHNE 120,000 0 0 0
g HWA | o |l 0] 0] 0]

KRS EHFHA) 0 0 0 0

) ASEHFHB) 0 0 0 0

Hh X K= B 58 (A) 0 0 0 0

Hh X K=& 5 (B) 0 0 0 0

TREEHEH 0 0 0 0

ZDith B R 0 0 0 0
¥ I A [ 1,031,000 ][ 0] 50,510 ] 50,510 ]

78 M & IR A 30,000 0 1,500 1,500 [#ZFEK3IE S

BAREIA 500,000 0 0 0

M F IRA 1,000 0 0 0

O 500,000 0 49,010 49010 |=1-13%8

B Y & 0 0 0 0
FOSTIhRBIALE |[ 0 [ 0] 0] 0]

STEREE [ 5000000 ][ 0] 0] 0]

N B [( 13,331,000 ) ( 0) 3,050,510 ) 3,050,510 )

TR RRE 0 1,465,307 0 1,465,307

R A & Bt 13,331,000 1,465,307 3,050,510 4,515,817




— =i X HOE

20134 98 18 ~

2014568 H 318 (Bfi: M)

15 B TETFELEE CIREREIC HAXH L A%S it =
N H L 8 [ 1,236,230 ][ 0)][ 820000 ][ 820,000 ]
) IvE £ & 860,000 0 820,000 820,000 [20,000x 414
VIV ASEERE 80,000 0 0 0
ﬁ BE £ & 245,960 0 0 0
%ﬁlxéﬁﬁﬁ 24,420 0 0 0
EI BE £ &5 25,850 0 0 0
2)8 & H U 757500 )|( o J[[ 0 J[[ 0]
EBERXESEFRNERR 27,500 0 0 0
Y3y R e B (A 235,000 0 0 0
v ke &L (B) 120,000 0 0 0
R RSB 5FE (A 135,000 0 0 0
MR KRS EHFH B) 120,000 0 0 0
P HEEHEH 120,000 0 0 0
)Y 3 HE S B iR 0 0 0 0
3)E E B [ 4187520 J[T 0 JJ[ 550,936 J[[ 550,936 ]
2 B & H (2,746,520 )| ( 0)[C 305476 )[( 305476 )
Bl = & 1,500,000 0 97,020 97,020 |9BHI&
= B B 250,000 0 37,703 37,703 [mrmE=4 aRLEIEEES
T B =B 350,000 0 17,598 17,598 [Y%=7774FVR, %)Y
m Rl & 100,000 0 0 0
B g B 30,000 0 0 0
S - 100,000 0 0 0
S & 20,000 0 945 945 |iRAFHBAH
5 5 # 266,520 0 22,210 22210 [F5vom—A
EF BB & 130,000 0 130,000 130,000 [¥9L%)—. CEHLE)—. bV vT5—
£ B = B ( 560,000)|( 0)[C 102960)[C  102,960)
Zz ' B 150,000 0 75,000 75,000 |BTE%>
E O & 410,000 0 27,960 27,960 [IGUEBEEL 7 LY VM13ES)
B A E B B B 40,000 )| ( 0)]¢ 60,000 ) | ( 60,000 )
B2 B B 40,000 0 60,000 60,000 |#ifA%
M oam B A B 50,000 )| ( 0)]¢ 2,500 ) | ( 2,500 ) |[BRIE#K %55
= B X 17 & |( 0)]( 0)]¢ 0) ¢ 0)
BUOSTBHE |( 5,000 )] ( 0)]¢ 0)[( 0)
BUOSTHEE |( 0)]( 0)]¢ 0) ¢ 0)
K £ F & H [( 786,000)]|( 0)]¢ 80,000 ) | ( 80,000 )
E B X = 0 0 0 0
EZ B X = 300,000 0 0 0
Jyiar K & 36,000 0 0 0
Hh X X = 0 0 0 0
= R & H 50,000 0 50,000 50,000
Z D 400,000 0 30,000 30,000 |MEExEERX SREMh2EH
4 ® ( o J|{ 0 ][ 0 J|[ 0]
%ﬁ’bﬁ#‘%ﬁ%ﬁiﬁ 0 0 0 0
iﬁ_Lé 0 0 0 0
BHSASHESEAL 4000000 ]I 0 J|I[ 0 Il 0]
)30 i £ 3,000,000 ][I 0 J[[ 0 ][ 0 )
7 = [C_13,181,250 0)]C 1,370,936 J)]C_ 1,370,936
EX E I [ 149750 [T 0 J[[ 0 J[[ 0]
% 13,331,000 0_] 1,370,936 1,370,936
0 1,465,307 1,679,574 3,144,881

@




201359 A KA ESHINZRER

RA D E B 2013%F9A 1H = 20144£8H31H
1] B UETELEE AAKS L HURA LAKS i Z
T i £ IR A 0 0 0 0
R E IR A 0 0 0 0
— S ESIRA 4,000,000 0 0 0
BmAFEIA 0 0 0 0
i i A 1,000 0 0 0
EHEEESIG 300,000 0 0 olpo—n—%
F AR E R & BRAH 5,000,000 0 0 0
7\ £t 9,301,000 0 0 0
R ARBEIRE 0 4,547,931 0 4,547,931
IR A & &t 9,301,000 4,547,931 0 4,547,931
X H o8& (BfI:[)
1] = UETELE HAKE LAXH LAKS ] Z
=i HFMHE 1,000,000 0 12,000 12,000| Il A—E 28
E i X B 2,000,000 0 0 0
% =1 3,000 0 0 0
¥Rl P iEESEL 0 0 0 0
FAFEERSET 0 0 0 0
FEERSEEZES 6,000,000 0 0 0
/Iy &t 9,003,000 0 12,000 12,000
A - 298,000 0 0 0
X i & &t 9,301,000 0 12,000 12,000
= 5 # R & 0 4,547,931 A 12,000 4,535,931

€)



